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This book was inadvertently published without updating the following corrections:

Chapter 2

Page 34 line 2 ↓ it says

(∂ i
γ)

∗ =− 1√
2

e|x|
2
(∂ i

γ e−|x|2).

it should say

(∂ i
γ)

∗ =− 1√
2

e|x|
2
(∂ie

−|x|2I).
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C2 Correction to: Gaussian Harmonic Analysis

Page 34 line 12 ↑ it says

(−L) =
d

∑
i=1

∂ i
γ(∂ i

γ)
∗ = (−L)+ Id =−1

2
Δx + 〈x,∇x〉+ Id ,

it should say

(−L) =
d

∑
i=1

∂ i
γ(∂ i

γ)
∗ = (−L)+dI =−1

2
Δx + 〈x,∇x〉+dI,

Page 34 line 10 ↑ it says

L = L− Id =
1
2

Δx −〈x,∇x〉− Id .

it should say

L = L−dI =
1
2

Δx −〈x,∇x〉−dI.

Chapter 4

Page 157 line 11 ↑ it says

≤ C
m(cb)d

∫
|y−x|<Cdm(cb)

|( f χB̂(x))(y)|
|x− y|d dy ≤CM( f χB̂(·))(x).

it should say

≤ C
m(cb)d

∫
|y−x|<Cdm(cb)

|( f χB̂(x))(y)|dy ≤CM( f χB̂(·))(x).

Page 162 line 3 ↓ it says

h(v(s))+h(w(s))≤ a
a2−b2+

2a

(a2−b2)1/2
√

s(a2−b2)1/4
≤ C

t0

1

(a2 −b2)1/4

(
1+

1√
s

)
,

it should say

h(v(s))+h(w(s))≤ 2a
a2−b2+

2a

(a2−b2)1/2
√

s(a2−b2)1/4
≤ C

t0

1

(a2 −b2)1/4

(
1+

1√
s

)
,

Page 162 line 10 ↓ it says

≤C
e−νu0

t1/2
0

1

(a2 −b2)1/4

∫ ∞

0
(sη/2 +uη/2

0 )e−νu(s)
(√

s+
1√
s

)
ds
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it should say

≤C
e−νu0

t1/2
0

1

(a2 −b2)1/4

∫ ∞

0
(sη/2 +uη/2

0 )e−νs
(√

s+
1√
s

)
ds

Page 162 line 11 ↓ it says

≤C
e−νu0

t1/2
0

(
1+

uη/2
0

(a2 −b2)1/4

)∫ ∞

0

(√
s+

1√
s

)
ds

it should say

≤C
e−νu0

t1/2
0

(
1+

uη/2
0

(a2 −b2)1/4

)∫ ∞

0
e−νs

(
s+

1√
s

)
ds

Page 163 line 2–3 ↓ it says

∫ 1

0
(u(t))η/2e−νu(t) dt

t3/2
≤C

e−νu0

t1/2
0

1

(a2−b2)1/4

∫ ∞

0
(sη/2+uη/2

0 )e−νu(s)
(√

s+
1√
s

)
ds.

it should say

∫ 1

0
(u(t))η/2e−νu(t) dt

t3/2
≤C

e−νu0

t1/2
0

1

(a2−b2)1/4

∫ ∞

0
(sη/2+uη/2

0 )e−νs
(√

s+
1√
s

)√
1−ν(s) ds.

Chapter 8

Page 353 line 1 ↑ it says

Iβ Hν(x) =
1

(|ν |+1)β/2
Hν(x).

it should say

Iβ Hν(x) =
1

(|ν |+d)β/2
Hν(x).

Page 354 line 2 ↓ it says “{T (1)
t }t = {e−tTt}t , the 1-translated”

it should say “{T (d)
t }t = {e−tdTt}t , the d-translated”



C4 Correction to: Gaussian Harmonic Analysis

Page 354 line 4 ↓ it says

Iβ f (x) = (−L)−|β |/2 f (x) =
1

Γ (|β |/2)

∫ ∞

0
t
|β |−2

2 T (1)
t f (x) dt

=
1

Γ (|β |/2)

∫ ∞

0
t
|β |−2

2 e−tTt f (x) dt

= Cβ e|x|
2
∫
Rd

(∫ 1

0
(− logr)

|β |−2
2

e
− |x−ry|2

1−r2

(1− r2)
d
2

dr
)

f (y) γd(dy).

it should say

Iβ f (x) = (−L)−β/2 f (x) =
1

Γ (β/2)

∫ ∞

0
t

β−2
2 T (d)

t f (x) dt

=
1

Γ (β/2)

∫ ∞

0
t

β−2
2 e−dtTt f (x) dt

= Cβ e|x|
2
∫
Rd

(∫ 1

0
(− logr)

β−2
2 rd e

− |x−ry|2
1−r2

(1− r2)
d
2

dr
r

)
f (y) γd(dy).

= Cβ

∫
Rd

(∫ 1

0
(− logr)

β−2
2 rd e

− |y−rx|2
1−r2

(1− r2)
d
2

dr
r

)
f (y)(dy).

Chapter 9

Page 360 line 6 ↓ it says

R j =
∂

∂x j
(−L)−1/2

it should say

R j =
∂

∂x j
(−Δ)−1/2

Page 361 line 3 ↑ it says

R j = ∂ γ
j I1/2 =

1√
2

∂
∂x j

(−L)−1/2,

it should say

R j = ∂ j
γ I1/2 =

1√
2

∂
∂x j

(−L)−1/2,

Page 366 line 3 ↑ it says
Rβ = ∂ γ

β (−L)−|β |/2,
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it should say
Rβ = ∂ β

γ (−L)−|β |/2,

Page 368 lines 3–7 ↓ it says

Kβ (x,y) = ∂ γ
β N|β |/2(x,y)

=
1

πd/2Γ (β )

∫ 1

0

(− logr
1− r2

) |β |−2
2

r|β |Hβ

( y− rx√
1− r2

) e
− |y−rx|2

1−r2

(1− r2)d/2+1

dr
r
.

Therefore,

Rβ f (x) = p.v.
∫
Rd

Kβ (x,y) f (y)dy

= p.v.
1

πd/2Γ (β )

∫
Rd

∫ 1

0

(− logr
1− r2

) |β |−2
2

r|β |Hβ

( y− rx√
1− r2

)

e
− |y−rx|2

1−r2

(1− r2)d/2+1

dr
r

f (y)dy.

it should say

Kβ (x,y) = ∂ β
γ N|β |/2(x,y)

=
1

πd/2Γ (|β |/2)

∫ 1

0

(− logr
1− r2

) |β |−2
2

r|β |Hβ

( y− rx√
1− r2

) e
− |y−rx|2

1−r2

(1− r2)d/2+1

dr
r
.

Therefore,

Rβ f (x) = p.v.
∫
Rd

Kβ (x,y) f (y)dy

= p.v.
1

πd/2Γ (|β |/2)

∫
Rd

∫ 1

0

(− logr
1− r2

) |β |−2
2

r|β |Hβ

( y− rx√
1− r2

)

e
− |y−rx|2

1−r2

(1− r2)d/2+1

dr
r

f (y)dy.

Page 379 line 7 ↓ it says

(−L) =
d

∑
i=1

∂ i
γ(∂ i

γ)
∗ = (−L)+ Id =−1

2
Δ + 〈x,∇x〉+ Id .
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it should say

(−L) =
d

∑
i=1

∂ i
γ(∂ i

γ)
∗ = (−L)+dI =−1

2
Δ + 〈x,∇x〉+dI.

Page 379 line 12 ↓ it says

(∂ β
γ )

∗ =
(−1)|β |

2|β |/2
e|x|

2
(∂ β

γ e−|x|2)

it should say

(∂ β
γ )

∗ =
(−1)|β |

2|β |/2
e|x|

2
(∂ β e−|x|2I)

Page 379 line 6 ↑ it says

Rβ Hν =
1

2|β |/2(|ν |+1)|β |/2
Hν+β ,

it should say

Rβ Hν =
1

2|β |/2(|ν |+d)|β |/2
Hν+β ,

Page 379 line 4 ↑ it says

(−L)−|β |/2Hν =
1

(|ν |+1)|β |/2
Hν ,

it should say

(−L)−|β |/2Hν =
1

(|ν |+d)|β |/2
Hν ,

Page 379 lines 1–2 ↑ it says

Rβ Hν(x) = (∂ β
γ )

∗(−L)−|β |/2Hν(x) =
(−1)|β |

(|ν |+1)|β |/2
e|x|

2
∂ β

γ (e
−|x|2Hν(x))

=
(−1)|β+ν |

2|β |/2(|ν |+1)|β |/2
e|x|

2
∂ β+ν(e−|x|2) =

1

2|β |/2(|ν |+1)|β |/2
Hν+β (x);

it should say

Rβ Hν(x) = (∂ β
γ )

∗(−L)−|β |/2Hν(x) =
(−1)|β |

(|ν |+d)|β |/2
e|x|

2
∂ β (e−|x|2Hν(x))

=
(−1)|β+ν |

2|β |/2(|ν |+d)|β |/2
e|x|

2
∂ β+ν(e−|x|2) =

1

2|β |/2(|ν |+d)|β |/2
Hν+β (x);



Correction to: Gaussian Harmonic Analysis C7

Page 380 line 2 ↓ it says

Rβ hν(x) =
1

(|ν |+1)|β |/2

[ d

∏
i=1

(νi +βi)(νi +βi −1) · · ·(νi +1)
]1/2

hν+β (x),

it should say

Rβ hν(x) =
1

(|ν |+d)|β |/2

[ d

∏
i=1

(νi +βi)(νi +βi −1) · · ·(νi +1)
]1/2

hν+β (x),

Page 380 lines 4–7 ↓ it says

Rβ hν(x) = Rβ

( Hν(x)

(2|ν |ν!)1/2

)
=

1

(2|ν |ν!)1/2
Rβ Hν(x)

=
1

(2|ν |ν!)1/2

1

2|β |/2(|ν |+1)|β |/2
Hν+β (x)=

1

(ν!)1/2(|ν |+1)|β |/2

Hν+β (x)

2|ν |/2+|β |/2

=
1

(|ν |+1)|β |/2

( (ν +β )!
ν!

)1/2 Hν+β (x)

(2|ν+β |(ν +β )!)1/2

=
1

(|ν |+1)|β |/2

[ d

∏
i=1

(νi +βi)(νi +βi −1) · · ·(νi +1)
]1/2

hν+β (x).

it should say

Rβ hν(x) = Rβ

( Hν(x)

(2|ν |ν!)1/2

)
=

1

(2|ν |ν!)1/2
Rβ Hν(x)

=
1

(2|ν |ν!)1/2

1

2|β |/2(|ν |+d)|β |/2
Hν+β (x)=

1

(ν!)1/2(|ν |+d)|β |/2

Hν+β (x)

2|ν |/2+|β |/2

=
1

(|ν |+d)|β |/2

( (ν +β )!
ν!

)1/2 Hν+β (x)

(2|ν+β |(ν +β )!)1/2

=
1

(|ν |+d)|β |/2

[ d

∏
i=1

(νi +βi)(νi +βi −1) · · ·(νi +1)
]1/2

hν+β (x).

Page 380 line 12 ↓ it says

K β (x,y) =Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

Hβ

(
x− ry√
1− r2

)
e
− |x−ry|2

1−r2

(1− r2)
n
2+1

dr.

it should say

K β (x,y) =Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

rd−1Hβ

(
x− ry√
1− r2

)
e
− |x−ry|2

1−r2

(1− r2)
d
2 +1

dr.



C8 Correction to: Gaussian Harmonic Analysis

Page 380 lines 10 ↑ it says

(−L)−|β |/2 f (x) =
1

Γ (|β |/2)

∫ ∞

0
t
|β |−2

2 T (1)
t f (x) dt

= Cβ e|x|
2
∫
Rd

(∫ 1

0
(− logr)

|β |−2
2

e
− |x−ry|2

1−r2

(1− r2)
d
2

dr
)

f (y) γd(dy).

it should say

(−L)−|β |/2 f (x) =
1

Γ (|β |/2)

∫ ∞

0
t
|β |−2

2 T (d)
t f (x) dt

= Cβ e|x|
2
∫
Rd

(∫ 1

0
(− logr)

|β |−2
2 rd e

− |x−ry|2
1−r2

(1− r2)
d
2

dr
r

)
f (y) γd(dy)

= Cβ

∫
Rd

(∫ 1

0
(− logr)

|β |−2
2 rd e

− |y−rx|2
1−r2

(1− r2)
d
2

dr
r

)
f (y) dy.

Page 381 line 3 ↓ it says

Rβ hν(x) =
1

(|ν |+1)|β |/2

[ d

∏
j=1

(ν j +β j) · · ·(ν j +1)
]1/2

hν+β (x).

it should say

Rβ hν(x) =
1

(|ν |+d)|β |/2

[ d

∏
j=1

(ν j +β j) · · ·(ν j +1)
]1/2

hν+β (x).

Page 381 lines 7–8 ↓ it says

R
β1
1 R

β2
2 . . .R

βd
d hν(x) =

d

∏
j=1

( β j

∏
i=1

( ν j + i

|ν |+ i

))1/2
hν+β (x)

=
[ d

∏
j=1

(ν j +β j) · · ·(ν j +1)
(|ν |+β j) · · ·(|ν |+1)

]1/2
hν+β (x)

it should say

R
β1
1 R

β2
2 . . .R

βd
d hν(x) =

d

∏
j=1

( β j

∏
i=1

( ν j + i

|ν |+d +(i−1)

))1/2
hν+β (x)

=
[ d

∏
j=1

(ν j +β j) · · ·(ν j +1)
(|ν |+d +β j −1) · · ·(|ν |+d)

]1/2
hν+β (x)
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Page 381 lines 10–15 ↓ it says

Tβ hν(x) =
[∏d

j=1(|ν |+β j) · · ·(|ν |+1)

(|ν |+1)|β |

]1/2
hν(x)

=
[∏d

j=1(|ν |+β j) · · ·(|ν |+2)

(|ν |+1)|β |−d

]1/2
hν(x)

=
[ d

∏
j=1

( |ν |+β j) · · ·(|ν |+2)

(|ν |+1)β j−1

)]1/2
hν(x)

=
[ d

∏
j=1

( (|ν |+1)+(β j −1)
|ν |+1

)
· · · (|ν |+1)+1)

|ν |+1

)]1/2
hν(x)

=
[ d

∏
j=1

( (|ν |+1)+(β j −1)
|ν |+1

)
· · ·

( (|ν |+1)+1
|ν |+1

)]1/2
hν(x)

=
[ d

∏
j=1

(
1+

(β j −1)
|ν |+1

)
· · ·

(
1+

1
|ν |+1

)]1/2
hν(x)

it should say

Tβ hν(x) =
[∏d

j=1(|ν |+d +β j −1) · · ·(|ν |+d)

(|ν |+d)|β |

]1/2
hν(x)

=
[∏d

j=1(|ν |+d +β j −1) · · ·(|ν |+2)

(|ν |+d)|β |−d

]1/2
hν(x)

=
[ d

∏
j=1

( |ν |+d +β j −1) · · ·(|ν |+d +1)

(|ν |+d)β j−1

)]1/2
hν(x)

=
[ d

∏
j=1

( (|ν |+d)+(β j −1)
|ν |+d

)
· · · (|ν |+d)+1)

|ν |+d

)]1/2
hν(x)

=
[ d

∏
j=1

(
1+

(β j −1)
|ν |+d

)
· · ·

(
1+

1
|ν |+d

)]1/2
hν(x)

Page 382 line 4 ↑ it says

=Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

Hβ

(
x− ry√
1− r2

)
e
− |y−ry|2

1−r2

(1− r2)
n
2+1

dr.

it should say

=Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

rd−1Hβ

(
x− ry√
1− r2

)
e
− |y−rx|2

1−r2

(1− r2)
n
2+1

dr.



C10 Correction to: Gaussian Harmonic Analysis

Page 382 line 2 ↑ it says

∂K

∂y j
(x,y) = 2Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

[ −rβ j√
1− r2

Hβ−ej

(
x− ry√
1− r2

)

it should say

∂K

∂y j
(x,y) = 2Cβ

∫ 1

0

(
− logr
1− r2

) |β |−2
2

rd−1
[ −rβ j√

1− r2
Hβ−ej

(
x− ry√
1− r2

)

Page 383 line 9 ↓ it says
∣∣∣∣∂K

∂y j
(x,y)

∣∣∣∣≤C

∣∣∣∣e−|x|2+|y|2 ∂K

∂y j
(x,y)

∣∣∣∣ .
it should say ∣∣∣∣∂K

∂y j
(x,y)

∣∣∣∣≤C

∣∣∣∣e−|x|2+|y|2 ∂K

∂y j
(x,y)

∣∣∣∣ .
Page 384 line 4 ↓ it says

Rβ hν(x) =
1

2|β |/2

∏d
j=1 [(ν j +1) · · ·(ν j +β j)]

1
2

(|ν |+1)|β |/2
hν+β (x).

it should say

Rβ hν(x) =
1

2|β |/2

∏d
j=1 [(ν j +d) · · ·(ν j +β j)]

1
2

(|ν |+d)|β |/2
hν+β (x).

Page 384 line 6 ↓ it says

‖Rβ f‖2
L2(dγ) = ∑

ν

∏d
j=1 [(ν j +1) · · ·(ν j +β j)]

2|β |(|ν |+1)|β |
| f̂γ(ν)|2

it should say

‖Rβ f‖2
L2(dγ) = ∑

ν

∏d
j=1 [(ν j +1) · · ·(ν j +β j)]

2|β |(|ν |+d)|β |
| f̂γ(ν)|2

Page 384 line 10 ↑ it says

|K β (x,y)| =

∣∣∣∣∣∣∣
∫ 1

0

(
− logr
1− r2

) |β |−2
2

Hβ

(
x− ry√
1− r2

)
e
− |x−ry|2

1−r2

(1− r2)
d
2 +1

dr

∣∣∣∣∣∣∣

≤ C
∫ 3

4

0
(− logr)

|β |−2
2

e
− |x−ry|2

2(1−r2)

(1− r2)
d
2

dr
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it should say

|K β (x,y)| =

∣∣∣∣∣∣∣
∫ 1

0

(
− logr
1− r2

) |β |−2
2

rd−1Hβ

(
x− ry√
1− r2

)
e
− |x−ry|2

1−r2

(1− r2)
n
2+1

dr

∣∣∣∣∣∣∣

≤ C
∫ 3

4

0
(− logr)

|β |−2
2

e
− |x−ry|2

2(1−r2)

(1− r2)
n
2

dr

Page 384 line 5 ↑ it says

|K β (x,y)|=C
(
K

1
β (x,y)+K

2
β (x,y)+K

3
β (x,y)

)
,

it should say

|K β (x,y)| ≤C
(
K

1
β (x,y)+K

2
β (x,y)+K

3
β (x,y)

)
,
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